¥oep ARy (REAM [BGR] FHAR [ #E, k #8, B O FHE - (D G

(1) flz)=23—622 — 152 +30 D & %
fi(z) =322 — 122 — 15
=3(x+1)(x-5).

INLD, flz) DEREIZROD LD I 5.

z e 5

filo) || + 0 - 0 +

fay ||~ ] 88 | N | -0 |

ko, fz) A

v
=3

BAEEE LS mrix[-1] %)
fiMiEE L 5 L5 % w3 [5] (%)
50, flz)
AfE [38], Ml )
LB,
(2) CLOA(t, f(t) 2B} 5 C OO HERIT
y = (3t? — 12t — 15)(z — t) + t* — 6% — 15¢ + 30.
y = 3(t? — 4t — 5)r — 265 + 6t + 30.
INME (-3, —6) RMALE
—6=—0(t2 — 4t —5) — 2t £ 6t + 30.
2t 4 3t2 — 36 — 81 = 0.
(t+3)%(2t—9) = 0.
t=-3, 5.
LoT, KDHEMROHRERIT
y = 48z + 138, -y:—?w—%. (%)

1/4
© & 2025 4F



¥oep ARy (REAM [BGR] FHAR [ #E, k #8, B O FHE - (D G

VAT AR TOEN a, b, el T a2 +02, 2 DfE
2<a<chbecse. ® (_2) @,_.nh‘ ”ri_éf\f %.ia_b_c\ 2T a? b2, 2 D
EFRIZTBEROD LSR5,
D& 7S (a, b, ¢) 1T
a b ¢ |la2+b| 2
(a, b, ) =(2, 3, 4). (2, 3. 5), (2, 3, 6),
(2, 4, 5), (2, 4, 6), 2 3 4 13 16
(2, 5, 6),
(3, 4, 5), (3, 4, 6), 2 3 5 13 25
(3, 5, 6), ‘ .
2 3 6 13 36
(4, 5, 6)
D10 THS. 2 4 5 00102
(1) Q=TI COERa, b, 2OV T a+bOlER 2 4 0 20| 36
AL RD L SIS
IZFArmO LSR5, 9 5 6 29 26
o b e |lat+b 3 4 5 25 25
2 3 4 5 3 4 6 25 36
2 3 5 5 3 5 6 34 36
2 3 6 5 4 5 6 11 36
2 4 > 6 SORT, 4R >R EEETEDR
2 4 6 6 (a, b, ¢)=|(3, 4, 5), (4, 5, 6) | - (&)
2 5 6 7 3) (2) TR~
3 4 5 7 (a, b, c)=(3, 4, 5), (4, 5, 6)
3 4 6 7 2 EZ (1) OEFZMZSOT, TNTUIBVTa, b, c %
JMOEZ T4 =M ETTA,
3 5 6 8 FIEFH LD
2 2 2
4 5 6 0 cos ZACR = a‘"‘#
2ab
ZOMC, atb>cERMTEDR CHBHPS
. L o)=(3, 4, 5)DEE
(a.b.c) (a, b, ) =(3, 4, 5)
- - ) _ 3% 44?5
=(2.3,4),(2,4,5),(2,5,6),(3,4,5),(3,4,6),(3,5,6), (4.5,6) | cos ZACB = =52
“(a. b, e)=(4, 5 6) DL =
. _ 4* 45267
cos ZACB = i3
= % . (E5)

2/4
© & 2025 4F



B umE R (e AR [SGR] AR [3C

g, ik BE, E RE—FE - (E]D (i)

ﬂ-1:1._ [12:3.

(n+1)ant2 — (2n 4+ 3)an+1 + (n+ 2)a, = 0.

(1) @&H
(n+1)agya = (2n+ 3)ap41 — (0 + 2)ay,.
(2n + 3)ans1 — (n+2)a,
n+1 '

Ap42 =

by =apt1 —a, 25k

bpi1 = Gni2 — Gnyl
_ (2n+3)an4y — (n+2)a,

n+1 Ot
— (n + 2)aﬂ+l —(n+ 2)“‘73
n+1
_n+2 _
- i"!-+1 (an-H. a’ﬂj
_n+2 b,
n+1
LA
(2) DLb

@DWilE n+2 TES L

1 _
n+2@”“_n+1%

L porscr
n+1
Cnyl = Cn-

THHEMS, e, =

LT

{4
Kl

THENS

c,nzl (?1:1, 2. 3.

%:nilmxb
bpn=n+1

THY, bp=tpey —ay &0

Ot — @y =70+ L.

n—1
p = g +Z(k+1)
k=1
=l+=nn—1)+n—-1

n(n+1)
—

v

ZNEn=1Dk ZITHLED T2,

L=T

| n(n+1)
a, = 3 )

© O

e)

(B D )

(3) (2) &b

3/4

225
1,1 = ; n(n2+ 1)
L, 225 (L B #)
—\n n+1
n=1
~2(1-3)
_[25
113

© MEE

o

2025 4F



¥oep AumE R (BEAR [BGR]L FHAR B &,

i, B, E (R FGE - (] (H18)

flnz) = {f(2)}", D
fy=2 @

(1) QuzEwTz=1E<k, @kb
f(n) ={f(1)}"

:Qﬂ
THEHS, f(n) 100 L7RBEDIF
2™ <100
- ETHEH, ZIT
2% =64 < 100, 27 =128 > 100
ThbPS, f(n) 100 2725 k5L AkOBHIZ
n=[6]
(2) @kn
_ (9. %
f@=1(2-%)
2
_ xz
=713}

e f(E) goennRKTHsH S
() >0

flz) > 0.

(@) OEswTz= % rT5e

(LEKED )

= {r (L)
®&h
= ()Y
()= o

LEES QIEBVTn=l 2= L x33:, @k

4/4

© {EE

2025 4



